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QUESTION 1

Given:

11 public class Person {

12 private name;

13 public Person(String name) {

14 this.name = name;

15}

16 public int hashCode() {

17 return 420;

18}

19}

Which statement is true?

A. The time to find the value from HashMap with a Person key depends on the size of the map.
B. Deleting a Person key from a HashMap will delete all map entries for all keys of type Person.
C. Inserting a second Person object into a HashSet will cause the first Person object to be removed as a duplicate.

D. The time to determine whether a Person object is contained in a HashSet is constant and does NOT depend on the
size of the map.

Correct Answer: A

QUESTION 2

Given a valid DateFormat object named df, and
16.

Date d = new Date(0L);

17.

String ds = "December 15, 2004";

18.

[/l insert code here
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What updates d\\'s value with the date represented by ds?
A. 18. d = df.parse(ds);

B. 18. d = df.getDate(ds);

C. 18. try { 19. d = df.parse(ds);

20. } catch(ParseException e) { };

D. 18. try { 19. d = df.getDate(ds);

20. } catch(ParseException e) { };

Correct Answer: C

QUESTION 3

Given:

12.

import java.util.*;

13.

public class Explorer2 {

14.

public static void main(String[] args) {
15.

TreeSet s = new TreeSet();

16.

TreeSet subs = new TreeSet();

17.

for(int i = 606; i

18.

if(i%2 == 0) s.add(i);

19.

subs = (TreeSet)s.subSet(608, true, 611, true);

20.
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s.add(629);

21.

System.out.println(s + " " + subs);
22.

}

23.

}

What is the result?

A. Compilation fails.

B. An exception is thrown at runtime.

C. [608, 610, 612, 629] [608, 610]

D. [608, 610, 612, 629] [608, 610, 629]

E. [606, 608, 610, 612, 629] [608, 610]

F. [606, 608, 610, 612, 629] [608, 610, 629]

Correct Answer: E

QUESTION 4
Given:

13.

public class Pass {

14.

public static void main(String [] args) {
15.

intx =5;

16.

Pass p = new Pass();

17.

p.doStuff(x);
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18.

System.out.print(" main x =" + Xx);

19.

}

20.

21.

void doStuff(int x) {

22.

System.out.print(" doStuff x =" + x++);
23.

}

24,

}

What is the result?

A. Compilation fails.

B. An exception is thrown at runtime.
C. doStuff x =6 main x =6

D. doStuff x =5 mainx=5

E. doStuff x =5 main x =6

F. doStuff x =6 mainx=5

Correct Answer: D

QUESTION 5

Given:

11.

public class Rainbow {
12.

public enum MyColor {
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13.

RED(0xff0000), GREEN(0x00ff00), BLUE(0x0000ff);
14.

private final int rgb;

15.

MyColor(int rgb) { this.rgb = rgb; }

16.

public int getRGB() { return rgb; }

17.

g

18.

public static void main(String[] args) {
19.

[l insert code here

20.

}

21.

}

Which code fragment, inserted at line 19, allows the Rainbow class to compile?
A. MyColor skyColor = BLUE;

B. MyColor treeColor = MyColor.GREEN;

C. if(RED.getRGB()

D. Compilation fails due to other error(s) in the code.

E. MyColor purple = new MyColor(0xffO0ff);

F. MyColor purple = MyColor.BLUE + MyColor.RED;

Correct Answer: B

QUESTION 6
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Given:

1.

class Super {

2.

private int a;

3.

protected Super(int a) { this.a = a; }

4.

b

11.

class Sub extends Super {

12.

public Sub(int a) { super(a); }

13.

public Sub() { this.a=5;}

14.

}

Which two, independently, will allow Sub to compile? (Choose two.)
A. Change line 2 to: public int a;

B. Change line 2 to: protected int a;

C. Change line 13 to: public Sub() { this(5); }
D. Change line 13 to: public Sub() { super(5); }
E. Change line 13 to: public Sub() { super(a); }

Correct Answer: CD

QUESTION 7

Click the Exhibit button. What is the result?
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A. go in Goban go in Sente
B. go in Sente go in Goban
C. goin Sente go in Goban
D. go in Goban go in Sente
E. Compilation fails because of an error in line 17.

Correct Answer: C

QUESTION 8

Given:

1.

class Alligator {

2.

public static void main(String[] args) {

3.
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int [Ix[] = {{1,2}, {3.4,5}, {6,7,8,9}};
4.

int [0y = x;

5,

System.out.printin(y[2][1]);

6.

}

7.

}

What is the result?
A2

B.3

C.4

D.6

E.7

F. Compilation fails.

Correct Answer: E

QUESTION 9

Given:

11.

public static void main(String[] args) {
12.

try {

13.

args = null;

14.

args[0] = "test";
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15.

System.out.printin(args[0]);

16.

} catch (Exception ex) {

17.

System.out.printin("Exception™);

18.

} catch (NullPointerException npe) {
19.
System.out.printin("NullPointerException™);
20.

}

21.

}

What is the result?

A. test

B. Exception

C. Compilation fails.

D. NullPointerException

Correct Answer: C

QUESTION 10
DRAG DROP

Click the Task button.
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F'Ias:e the Tﬂjes in one of the Type columns, znd the Féelatmnsi"lps in the
Relationship column, to define appropriate has-a and is-a@anunﬂhqas

Type Relationship Type ‘,\Rgﬁ@latlnnshlps Types
| Place hars | IF"Iiui h'ira; :r% RS o o SN
Farest !F"Ia::'hucg I
Rectangle Place hee] 5)

| Pacehere | [Placeheel\ o Programming Book

Dane:

Correct Answer:

Flace the Tvpes in one of the Type columns, and the Relationships in the
Relationship column, to define approgriate has-a and m-a@anunﬂhqas

T'fpe Relatiunship Type <§@t@ljatlnnshlps T‘_ﬁ}is

{;;%:.

has-a :i

Rectangle

 JevaBaok

Dane:

QUESTION 11
DRAG DROP

Click the Task button.
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Flace the lines in the correct order o complete the enum.

enum Element | (_/%

Dore I

Correct Answer:
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Flace the lines in the correct order o complete the enum.

enun Element |

QUESTION 12

Given:

11.

public void testIfA() {

12.

if (testifB("True")) {

13.
System.out.printin("True");

14.
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}else {

15.

System.out.printin("Not true");
16.

}

17.

}

18.

public Boolean testIfB(String str) {

19.

return Boolean.valueOf(str);

20.

}

What is the result when method testIfA is invoked?
A. True

B. Not true

C. An exception is thrown at runtime.

D. Compilation fails because of an error at line 12.
E. Compilation fails because of an error at line 19.

Correct Answer: A
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